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‘a diy o mwﬁﬁﬁqﬁmwzﬁ@mﬁzﬁ? ¢ 1. Which of these enzyme was

(1) AT : discovered by Arthur Komnberg ?
(2) TS 11 (1) Polymerase-I
(3) TR I f (2) Polymerase-IL I

- = i (3) Polymerase-111
(4) ez wogifaerTs

(4) Restriction endonuclease

2. M @ e o g feead g o : 2. M’ line is present in
(1) {fga groyst (1) Striated muscle
(2) 3rifad an feas aresh ! (2) Smooth muscle
(3) Eed T HrEush ‘ %%—Eéf (3) Cardiac muscle
(4) IR l (4) Bone
3. Tidl & faiu % foru e foeg i { 3.  For formation of teeths, enamel is
210 wiferd ferat AT 2 7 , sccreted by which of these cells ?
(1) 3TECIeeATe HiferaT (1) Odontoblast cell
(2) AT HifE ? (2) Ameloblast cell
(3) e T : (3) Osteoblast cell
N 5 i (4) Chondrioblast cell
(4) HITUSHTCATE I :
4. HH U Y FIEAT wT S 2AT 8 7 4. Which of these is made of cartilage ?
(1) =€ Toie | (1) Hard palate
(2) =l : (2) Dentary
(3) EACEL ; (3) Cranium

(4) Epiglottis

(4) wdreIfes

5. TES W § gEt wieA W e § A 5. In ribose sugar, group attached to II

HI g9 ST @Ear & ? 3 carbon is
Ccor i (1) —COR

(1) —COR f

(2) —COOH (2) —COOH

(3) -OH ; 3) —OH

(4) ~CHO ; @) —CHO



=1 4 3 o sfm SRt & e
T ST 8 2
(1) 9™
(2) WS

(3) WA
(4) shiTay

I T69 < B § Hoflg amed &1 A
a1 2

(1) 3500 ..

(2) 500 ..

(3) 5800 fa.=h.

(4) 250 ..

THETSF TATe %del U8 9 IrTe
fqug g fopad faurfsa war g 2

(1) foe fagr s
(2) Toafars faa s
(3) MUY HeAHH g
(4) Tewnisrrom @

fou wu fre foei & r-cite
T I ZHY 9 F12 7

(1) @ XIII

(2) ==k XII

(3) N XI

(4) ®H X

B
ortiE]

Network of the blood capillarics are

found in which of these ?
(1) Piamater

(2) Arachnoid

(3) Duramater

(4) Cranium

In young adult man, value for tidal

volume in lung is
(1) 3500 ml

(2) 500 ml

(3) 5800 ml

(4) 250 ml

Cerebral hemisphere is divided into
frontal lobe and temporal lobe by
which of these ?

(1) Rhinal fissure

(2) Sylvian fissure

(3) Corpus callosum

(4) Hippocampus

Which out of the following is the other

name for Laki-Lorand factor ?
(1) Factor XIII

(2) Factor XII

(3) Factor XI

(4) Factor X




11.

13.

1 |

10.

=T 1 fopd 9d § UsihS g Heisame | 10, In which layer of the skin are the

SHITITeRTd IUTRA Bl & ? : macrophage and malenoblasts cells are
(1) et o found ?

(1) Papillary layer
(2) Stratum Malpighi

(3) Stratum Lucidium

©

3,
L -
&

(4) Reticular layer

i
|

HHEE HT TSI *-"-;\cf:l{-ll EnE ks a 11. Pyloric mucosa of stomach secretes

BT Fifdd Ll & 7 t which of these hormones ?

(1) 7fe ; (1) Gastrin

(2) fafsrfe ; (2) Secretin

(3) =rfefem i (3) Motilin

4) = l (4) Renin

= O 9 =1 91 509 99 gifferfad - ‘ 12.  Which of these is an example of Lentic

|
T BT IeTe0T & 7 ccosystem ?
(1) =gdl arftfeafadi-a ’ (1) Marine ecosystem

(2) =3 wet iR —a (2) Fresh water ecosystem
(3) @ ! giffeafahi -

(4) go1 ariefefaeht—a=

(3) Brackish water ecosystem

(4) Pool ecosystem

¢ 13, Purakinjee fiber are associated with

TR wER i 1 O e TRy

| which of these ?
(1) sufer<H i (1) Auricle
(2) e d k (2) Ventricle
(3) HIidahIe® ITq ; (3) Corticosystemic arch
(4) vdi. A= | (4) A.V.Node

4 oc
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I 11 B Y N 11 1
9A 0 IUYG HETE  qeei w
HTRHTSTES i | T Brell 2 |

(1) COD

(2) BOD

(3) ZP

(4) EP

o=t o = foefierss amg wgweh 2 7

(1) TEIEE urfégpete AT (Ta.d.ug.)
(2) Ul UHfferae A15ge (PAN)
(3) SO,

(4) NO,

(1) o 2re |l & Fe |

(2) wsfer Hi g Ee g

(3) 3 Frafas gerd 99 |

(4) A% @Me 9 U9 aw] & UEE

f 1 @ = |1 SetiaE T8 8 7
(1) SryeH

(2) sfemn

(3) Tora

(4) rdidre

T o @ 1 e ol &€ & s g
1 Hyfereran Hm 3

(1) 15 Haa

(2) 38 cHiad

(3) 85cHiad

(4) 125 3"

mxm
O]

16.

17:

18.

4.

is the amount of oxygen

required to oxidise only organic matter

in sewage.
(1) COD
(2) BOD
(3) ZP
(4) EP

Which of these is a secondary air

pollutant ?
(1) Suspended
(SPM)
(2) Peroxy Acetyl Nitrite (PAN)
3

Particulate  Matter

Eutrophication is caused due to

(1) Increase in greenhouse gases

(2) Increase of fish population

(3) Production of excessive organic
matter

(4) Run off of excessive fertilizer and
nutrients

Which one of the following is not a
zooplankton ?

(1) Diatom

(2) Daphnia

(3) Kiill

(4) Copepod

Maximum limit of an ear, listening
loud noise without pain is

(1) 15 decibel
(2) 38 decibel
(3) 85 decibel
(4) 125 decibel
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20.
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HEH Hal T W8 ¥ Sred gde F

forQ 71 forem s wehar 8 7
(1) HHe

(2) T

(3) 3 T srfems
(4) AT T fems

SIS <l STt fufer s+t 21t 2
(1) Heeetst 6

(2) ufdeq &

(3) e i

(4) gafe

AR 7

(1) Tesarse areq
(2) TSl $ e o
(3) 3723 A
(4) |TG % IS F

f= fope Tt @i 1 ifdre
furfer faferenr &1 et g2 Bt 2 7

(1) SrreH

(2) ididTe

(3) 3rHrar

(4) erEIRifsre

19,

21.

22.

For diatom test, which is the best site

for taking sample ?

(1) Lung

(2) Blood

(3) Bone marrow of ulna

(4) Bone marrow of femur

The cell wall of fungi is made of
(1) Ce!luiose

(2) Pectin

(3) Chitin

{(4) Suberin

Clostridium perfringens poisoning is
associated with

(1) Canned foods

(2) Fish foods

(3) Egg products

(4) Meat products

Which type of autotroph plankton has

a cell wall made of silica ?
(1) Diatom
(2) Copepod
(3) Amoeba

(4) Dinoflagellate

(0]

-

(0]
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27.
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Tl H a1 AATTAT 1 HE IerEor 2
(1) gredr

(2) BEAT=n

(3) Tastan

(4) FfepEeem

S A 9 F Sl A W Ed §
(1) =i
(2) a2
(3) dreifsres
(4) <if~w

Il geifaen &1 frem fo § & fag
AT 3 e o 7

(1) srfdq

(2) T HIH

(3) Hesd

(4) 7m 2SS

S fafma g 2 2 2
(1) e+ aq

(2) TS % Uy

(3) i < fmior & g9y
(4) FHHAA & U

“sfd g wifort ) wEfe 2 |ty
1 77 uftamy fopea & 2

(1) AT

(2) forgge

(3) Tty

(4) s

F 23,
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¢ 26.

27.

1

In chordates, the true example of class
Thaliacea is

(1) Salpa

(2) Herdmania

(3) Ciona

(4) Okiopleura

Animals living on upper surface of
water are called

(1) Lotic

(2) Benthic

(3) Pelagic

(4) Lentic

Which one out of these scientists.
discovered the law of incomplete
dominance ?

(1) Darwin

(2) Carl Correns

(3) Mendel

(4) Hugo de Vries

When does gene crossing over occur ?
(1) During cleavage

(2) During gastrulation

(3) During organogenesis

(4) During gametogenesis

“Species is a  population  of
interbreeding animals.” This definition
of species was given by

(1) Mayer

(2) Simpson

(3) Linnaeus

(4) Friend
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30.

‘ABO’ &0 g YuTTeft % SfiA 3ufeeq
&Il 8 U He

(1) 1

(2) 4

(3) 9

4) 12

TR fawer 1 wer famd sieg &
HEH1 H e T8 B 2

(1) faeigm

(2) fgom

(3) UfdemT

(4) TAFTETT

. N . 30,
SR Teeimar $1 @i yoy an !

ferg &7 ot 7
(1) fafsg

(2) wETagae
(3) 9 T hoe

(4) Hed
ﬁﬁmr;aﬁsiw%%%qﬁmﬁﬁw
STHER B 7

(1) ==

{ 28,

é
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29,

The genes of ‘ABO’ blood group
System are present on chromosome
number

(1) 1
2) 4
(3) 9
4) 12

The type of chromosomal aberration
which does not change the number of
genes is

(1)

(2) Duplication

Deletion

(3) Inversion

(4) Translocation

Linkage in Drosophila was first
discovered by

(1) Bridges

Bateson and Punnet
Morgan and Castle

Sutton

Which one out of these is responsible
for cytoplasmic inheritance ?

(I) Genes

(2) Plasmogen

(3) Factors

(4) Plasmid

oc
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%Fﬁa\aﬂ@rﬁmmﬁmﬁﬁﬁm
%f@zﬁwm%wﬁ%mmm%?

(1) TR, o T ey 3y

(2) F3N 3 FERfEY Hqs

(3) 3@, g, Tiferaf

(4) SIS, B 3y

ﬂf&xmﬁxﬁgaatr%mﬁﬁaﬁama

Wwaﬁr%mqﬁmmwwa%
Fﬂﬂwﬁm‘—r@ﬁz#ﬁmml
(2) ﬁ?&%ﬁﬁ%ﬂﬁ%%ﬂ%ﬁ
ST |

(3) EDTA 1 3941 % fiheeigmo 5
e s |

(4) Eﬁﬂz%ﬁ‘wyﬁaﬂmmr

75 um F 200 um T HIE ger S et
I HTE M Gl 2

(1) sregrRm @

(2) HERZZ g

(3) aTEsiem W

!
O]
*%

_ B

WD e e v

L

32

-E]

34,

35.

Helly’s fixative is used i fixation of

Which of these tissues ?

(1) Bom—:qnarmw, Blood forming
organs

(2) Hard and chitinoys tissues

(3) Eyes, kidney, glands

(4) Protozoans, cell smears

Material like bone or calcarcous plates
cannot be cut by routine histological

sectioning procedure. unless they are
(1) treated with Lugol’s solution
(2) washed to remove formalin

(3) decalcified using EDTA

(4) treated with chromate solution

Free floating sections at thickness of

75 um to 200 um can be cut on
(1) Ultratome

(2) Cryostat

(3) Vibratome

(4) Freezing microtome

Which one out of the following groups

of Protozoa, forms oceanic ooze ?

(1) Noctiluca, Volvox, Leishmania

(2) Opalina, Trichomonas,
Tripanosoma

(3) Polystomella, Nummulite,
Miliolina

(4) Giardia. Paramecium, Monocystis

u]



36. UfgE-we Eﬁmﬁaﬁ & e % faw | 3. For staining of acid-fast bacteria which

o s1fires 1 ST feayy EiCik- S stain is used ?

(1) q:ﬁﬁ;;:r_qgﬁfaq (1) Aniline - Fuschin

(2) FEr T — B ipreiet = (2) Carbol Furchin — Methylene blye
3) um - Jmis (3) Gram — Weigart

A > (4) Malachite green — Pyronin v
(#) HeT=TEE i - e v ]

Tty IS o IS EARIER T Cn i 3% Eor mounting of fTuorescein stained
H FE F Hig %1 ufesr a7 EEEACE: lissue sections on glass slide we yse

%qawﬁn%mw% E (I) DpPX

(1) <. .uay. 1 (2) Poly L-lysine

(2) W—UE—EIIS\IEII Eﬁ‘lﬂ (3) Chrom-aIum-gelatin
(3) FH-vey Rrdify g

(4) Phosphate buffered saline

Hohaes SE;, SEGﬁﬁﬁﬁmﬁﬁ 38 The symbo] SE,, SE; is used in

T equy %sf%m ELDI) HIAE 2 f biostatics for which of these test 2
(1) 9% fagey EaR:iEES gﬁ_r (1) Standard CIror  of Standard
(2) ANOVA ‘ deviation
(3) HE-TEg 3 whymy (2) ANOVA
' B (3) Correlation and regression
(4) *m=- liEgor (4) Chi-square test

3 Iffae TR % gey TG 39. The value of correlation coefficient
UTeh %7 47 =1 4 forgs THAEAIE 7 between two variables lies between

(1) ~ad+q i (1) —a and +¢
(2) ~19] (2) ~land |
3) 071 I (3) Oand |
(4) 034 (4) 0andd

fre 3 Ex) AT 3 foru ﬁﬂnjq " 40, Mallory’s triple stain can pe used for
%meﬁﬁm% ? staining of which of these 9

(1) FfFeg ek, q?ﬁ sfey (1) Connectjye tissue, muscle, bone
(2) senfers T‘@ W\ﬁ?m (2) Elastic fibers. collagen
(3) "o Iftey, S F g ' (3) Myelin sheath, elastic tissue
() ﬁsﬁ? I~y j (4) Muscles, bone-marrow
10 o]

b L e e ]

T T R s
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44,
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= 8 3 1 @ p-AE 9o fagmE =+
IR WA 7, A THAT  H:
fﬁfﬁﬁﬁﬁqﬁaﬁs%ﬁ?

(1) 0.15
(2) 0.20
(3) 0.025
(4) 0.05

a1 AR 1 T, R 7 % yor
quf w9 § 3Tfereas 8 S 2

(1) w9

(2) FAfTHA

(3) fEusm

(4) M % ATTGFE

e o I 1 A AT G a9 AT
¥ amwrfad Tear 2 foa fafa fafea
g - fas=t adteror 4 U Hd 8 2
(1) e

(2) HrEfaw

(3) HETH Hah
(4) @

ot yaea % fau gvemfa

weryE e | fa ugfa gra geaar

fepam S 2 7

(1) TTTeR TEeRt | eheTl STerent T
i eg 3 yered eI fha S 2 |

(2) I3 61 S e 9 i qe
i O veref werfaa fren s 2 |

(3) Tl ¥ Tige w@H |

(4) werTfEee fude &1 3w o |

-
AT

42.

44,

Which of the following p-values will
allow us to reject null hypothesis, if
significance levels of the test is 5% ?
(1) 0.15

(2) 0.20

(3) 0.025

(4) 0.05

The

become

first set of those bones that

fully ossified in human
cmbryo are

(1) Cranium

(2) Clavicles

(3) Hipbone

(4) Ear ossicles

What part of the body of the deceased
resist rapid decomposition, which is
used by forensic anthropologist for
analysis 7

(1) Bone
(2) Cartilage
(3) Soft tissue
(4) Teeth

For diagnostic purpose, endometrial
aspiration is collected by which of
these methods ?

(1) Cannula passed into uterine cavity
and material is aspirated with
syringe.

Material is collected from upper
third of the lateral wall of vagina.

Placing spatula in cervix.

Using plastic pipette.




45,

46.

47.

48.

a1 Ufcass SRR & ey b1 ST fSag 45. Place of a joint between the (wo pc[\-'iw_
WW%FIT@@EBTWWWE?{, : bones, which is used for determining 1
FEd 3 age of'a female is called (
(1) e femprrfig 'E (1) Public symphysis (
(2) SRR (2) Diaphysis 1
(3) BT (3) Epiphysis
(4) i 4) Coceyx
HH A Sy & Uit yHr ; 46. Which type of human race has aviator S0
TR R R 2 type of orbits ?
% : l) Negroid
Hise ol (
N R%E* 2) G id
_ A i (2) Caucasoj
(2) HThHEg
5 (3) Mongoloid
(3) HI=Tierse {
s : (4) Australoid
(4) A=ARE
mmﬁéﬁmqﬁ'{@@:{f{g—g P47 I sagittal suture in the skull is figgeq
. R o together, it suggests
TCET dl 98 gdray & i (1) The victim i younger than |8 51.
AR £ years age.
(1) VIS8T TP I AT 3 | (2) The victim is older than 35 years
2) o difeq 35 o 1 3 aer : : -
(2) o i Bt (3) The victim 1s older than 50 years
(3) T fifed 50 af 1 3 ey 2 | age.
3 o ; (4) The victim is younger than 60
(4) T difed 60 af £ 3 3 BIETZ | : years age.
; ,.
- . . .1 48 Physical evidence of an activity that
39 T & e wrew w5 @ FEd AW :

. N ; happened slightly before o slightly 52
I+ %5 9% T 41 39w are : =
g | after the death jg called
0 * I

N s i (1) post-mortem trauma
(1) ITEHIEH 2y i
(2) qﬁiﬁj\—mfm (2) Peri-mortom trauma

) |
(3) gg-qthgg . (3) Datum point
(4) 31952 | (4) Decomposition
12 oc (

N L dueeremaigs
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. 50.

ocC

ﬁm‘rﬁﬁqﬁmﬁmﬁwﬁuﬁmm L 49.

1} g U © 7
1) ot e 5 SR A 3
) i fope THE A A 2

(3) tﬂﬁ;?l%wfr{qtmaa‘ﬁmr%

(4) ifieq = HI T AL

!

@wﬁa%aﬁ@aﬁa%,a@ﬁ?«ﬁ

50.
<o) Bt LTl 1 7
(1) wr{?frﬁﬂqms?qﬁaéﬂ %@
oy e o o T .
() e el S e
&) e o o I

"é
ngw?maaﬁﬁmaxww% I‘ 51.
(1) e fes :
(2) itfir gua R z
(3 it 20 fom
(4) it e faH ‘
Gt a7 e fem i TR S y 3k
(1) T ’
(2) T (@) # t
(3) Hfeas e H ‘l
(4) efad I\

13

Taphonomic analysis can help to
determine which of these ?

(1) The diet of an individual.

(2) The length of time 2 victim 18
dead.

(3) The length of the cut on the body
of the victim.

(4) The method of killing of a victim.

A person has extremely  long
extremities, long tapering fingers and
hyper flexible joints. What is the
pallmgcnesis of the disease ?

(1) Mutation of Elastin gene

(2) Mutation of Fibrillin gene

(3) Mutation of collagen type-I gene

(4) Mutation of calcification gene

The study of human remains is called
(1) Criminology

(2) Forensic archaeology

(3) Forensic odontology

(4) Forensic osteology

Sex of a victim of unknown can be
determined from

(1) Epiphysis

(2) Skull

(3) Pelvic bone

(4) Teeths




ot = w1 e oot <61 BIfYTeRT SR & 7 53.  Which of these is a non-membranous
) 5 f cell organclle ?
_ R 4 (1) Lysosome
@ Sl - (2) Ribosome
SRl (3) Mitochondria
(4) T Epe é'g:.:‘ (4) Endoplasmic reticulum

N
(7]

-

54, TATSHT Hedl &1 dteal e d | feaeh 54. The fluidity of plasma membrane can
IIE U ge Thdl & 7 increase due to which of these ?

(1) Increase in saturated fatty acids in

(1) el H Saw 981 3Tl & 9g4 3 |
- : mcmbmnc
(2) el H SR T ELSIEECER : (2) Increase in unsaturated fatty acids
(3) FATH AT = 5 in membrane
. _ . ' < & ‘ (3) Increase in protein in membrane
| (4) oAl H TARIHIATIE & Fg4 d | . . ,
: (4) Increase in  glycolipid
' membrane
55. HIGZIhI-gAl % FelEA AW T H i 55. In electron transport system of
Fife Seide = el i & ? mitochondria, which one of final
x ! electron acceptor ?
(1) "I e % | |
o i (1) Cytochrome oxidase
(2) ETEeEHM U
(2) Cytochrome-A
(3) = , (3) Oxygen
[ i
(4) 9l i

i (4) Watcer

i 5
> - : 56. Unicellular microscopic organisms
56. Ushehvia Fedesfta Sfia wewem fReq ; p g

SR, were first observed by
. ' i (1) Robert Hooke
(1) Veegw ; (2) Priestley
(2) e t (3) Pasteur
(3) IR i (4) Leeuwenhock
(4) TR
u] 14 oc
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60.

Nucleus controls the activity and shape
of a cell. This was experimentally
proved by

(1) Barbara Mclintock

(2) Fontana

(3) Duchene

(4) J. Hammerling

Shape of submetacentric chromosome is
(1) Rod shaped

(2) L-shaped

(3) V-shaped

(4) Uncertain shape

[n cell division‘ the term
“Karyokinesis™ is related to

(1) Cytoplasm

(2) Chromocentre

(3) Centriole

(4) Nucleus

Lysosomes are called ‘suicidal bags’
because they contain

(1) Phagocytic activity

(2) Catabolic enzymes

(3) Hydrolytic enzymes

(4) Oxidative enzymes
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BIO-CHEMIST’RY

ustrgd o foru wfeenatenes goaenrd
(1) T=ATSH 1 GLEHHS JoIeY

(2) T=ITEH 1 fohameflel dodsg

(3) HeedZ 1 ferameiiet geasy

(4) HEZ ] GLHATHS qodey
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FTfereRdd Bidl & 39

(1) TSIT3H TEY & e |

(2) T TSEH hl HiEdl TEH HoHE
HITAF & T & |

(3) TR Higal Sl |

(4) TITEH I Higal 9gd S41El &l |

1= 4 9 9 91 UgdieEg 3 3N
(1) HDV U&=y

(2) Hairpin RECISIEG

(3) Hammer Head TgaISgH

(4) RNase P.

USTEH & 3FasdE aifferol & 3ER
fa= d | fopm @l & wmeH FmE-11 9
TR g ?

WKmt@W,H}IW%TH@
(1) =H

(2) fas

(3) A

(4) g qCATd Tal

U~AT3H e Sarssifog
(1) 2 @
(

H
?{W
(3) W Bratet

!
i
!

i
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Z. -

Competitive inhibitor of enzyme is
(1) Structural analogue of enzyme
(2) Functional analogue of enzyme
(3) Functional analogue of substrate

(4) Structural analogue of substrate

The maximum velocity of an enzyme

catalysed reaction reached when

(1) enzyme is completely free.

(2) enzyme concentration is equal to
the enzyme substrate complex.

(3) substrate concentration high.

(4) enzyme concentration very high.

Which of these ribozyme resemble
tRNA ?

(1) HDV Ribozyme

(2) Hairpin Ribozyme

(3) Hammer Head Ribozyme

(4) RNasc P

As per international classification of
enzymes, which of these category
enzymes belongs to class I1 ?

(1) Hydrolases
(3) Transferases

(2) Ligases

(4) Isomerases

If Km value is low, the affinity of
enzyme for substrate is

(1) low

(2) more

(3) zero

(4) no change

Enzyme lactate dehydrogenase is
(1) Dimer (2) Trimer
(3) Tetramer (4) Pentamer

ocC
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11.

12.

13.
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= 1 1 = gravar %1 s fga A
TEI e T 2 |
(1) e o1 U1 & &l &1

(2) EA 1 T I T BT H HTHR
(3) a3 T = % T HT 1

(4) FETE T i H1 @

fome e & el A we2ferm Femfy oof
Y H YA B 2 7
(1) 3mforg (2) wife=

(3) =EIE (4) fafira
(1) mRNA (2) hnRNA
(3) t-RNA (4) r-RNA

&t oft 7
(1) areE
(3) HEHA

(2) A
(4) T g aE A

o o wifien § 5 wew w5
I g ?
(1) HiEeie
(3) WA frre

(2) uiE=
(4) 999"

I T HIE WA = 5 IEAE (1)
HLATE ?
(1) UAA
(3) AUG

(2) UAG
(4) GUA

Hin wATseE 3 oed 3 A fead
IgaT R ?

(1) e t=hderefoa

(2) TRbersfen

(3) 3neRfaeT wifew

(4) 94 fediw
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12,

13.

Which of these relationship was not
studied by Mendel ?

(1)
(2)

Flower colour and seed colour
Flower colour and shape of pollen
grains

(3)
(4)

Height and seed coat colour
Height and seed colour

In which type of animals Mendclian
inheritance is truly exemplified ?
(1) Aploid (2) Protist
(3) Polyploid (4) Diploid

Anticodons are present on
(I) mRNA (2) hnRNA
(3) t-RNA (4) r-RNA

Chromosome theory of inheritance
was proposed by

(1) Watson

(2) Bohr

(3) Correns

(4) Sutton and Boveri

Sickle cell anaemia is due to which
type of mutation ?

(1) Silent
(3) Frame shift

(2) Point

(4) None sense

Chain initiating codon is
(2) UAG
(4) GUA

(1) UAA
(3) AUG

Serum amylase and lipase are raised in
(1) Acute pancreatitis

(2) Hepatitis

(3) Obstructive jaundice

(4) Bone disease
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S o YR WA Svem A | 14,

() sfeloese & smeAe &
TSEIEH % H1e §E 1 Thehd |
(2) 3IerEd & Uheht |
(3) URIETIA SRAHLS i Ueheht | %ii;@
(4) TTHThS TTTSH <hi Udheh | Ew«

FIAMEA F WO b A€ B G I | s,

Tl Jed 31 <61 SATITRl el § 7 ;_
(1) ADP (2) GTP

(3) CTP (4) AMP
sfaeft 9 Sae 3 wisHT wen & fd 16,
gfaesa o1 Ufagrfed femam e 7 |
(1) % HIose |
(2) fafos fgeeh
(3) T e |

(4) Tefoa g aer

e 1 & ol o mr R i i 80

(1) Trafee |
(2) FTHEATIFT
(3) TRHSETES
(4) TSHRIETE S RifTHT

= ° 3wl ar dienies feem o
HEATAT B ?

(1) A Beleeied
(2) FETH Bl f
(3) 3t/ simwsh
(4) \AE /IS §

SwA. U Uapdem f whEn mwE g,

ferqrort <l FFe STz H et 2 7 4

(1) 9rs (2) TATHS
(3) ZTHA (4) TTHS s
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18.

Tetracyclin blocks protein synthesis by

(1) Inhibiting binding of aminoacyl
tRNA to ribosome.

(2) Inhibiting initiation of
transcription

(3) Inhibiting peptidyl transferase

(4) Inhibiting translocase enzyme

Which of the energy rich molecule is
required for initiation of translation ?
(1) ADP (2) GTP

3) CIP (4) AMP

Which model of plasma membrane
was proposed by Danielle and Davson ?

(1) Fluid mosaic
(2) Lipid membrane
(3) Unit membrane

(4) Sandwich and Lamellar

Which of these are called sperm
mother cell ?

(1) Spermatid

(2) Spermatogonia

(3) Spermatocyte

(4) Primordial germ cell

Which  of these is also called
meroblastic cleavage ?

(1) Equal holoblastic

(2) Unequal holoblastic

(3) Partial

(4) Superficial

Replication process of DNA occur in
which phase of mitotic cycle ?

(I) Prophase (2) Anaphasc
(3) Interphase (4) Metaphase

oc
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(1) fagem (2) e
(3) fasE (4) AT
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(1) HrgEhifcra

(2) TRMEEH
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(4) FI-ERIH Hiforen]

i 28 fed % wifEsh-ud = 1 LH
e 3714 O H g4 A1 8 7

8-10d fga o

138 femm

18-204 fga @

20-244 fga m

(1)

(4)

= ok W 3dfed e gferai
qE 2
(1) 680
(3) 500

feg a2l 61+ 9 gafady daees
9 | BT 7

(1) TEEhITH
(3) 3gfer

(2) 640
4) 695

(2) UE.ug

(4) dreAfFes

Hedh & Tgel § & H Td 3h2H
#F1 @a g &3 &1 TeDied Fdl 2 2

(1) Hrared 9 g

(2) 378red g HiHred

(3) UFreH g Hiared

(4) HHred 9 gy
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The

process 1n which three germ
layers are formed is
(1) Cleavage (2) Gastrulation

(3) Organogenesis (4) Morphogenesis

Which of these cells act as phagocyte
in central nervous system
(1) Microgha

(2) Astrocytes

(3) Oligodendrocytes

(4) Ependymal cells

In normal 28 days of menstrual cycle
when would one expecet the surge of
LH to occur?

(1) At8-10days

(2) Atlil—13 days

(3) At 18— 20 days

(4) At 20 - 24 days

Total number of muscles found in
human body 1s

(1) 680 (1) 640

(3) 500 (4) 695

Deficiency of which hormone causcs
diabetes mellitus type 7

(2) ADH

(4) Prolactin

(1) Glucagon

(3) Insulin
In frog gastrula, which layer line the

roof and floor of the archenteron

respectively ?
(1) Mesoderm and Endoderm
(2)
(3) Ectoderm and Mesoderm

Endoderm and Mesoderm

(4) Mesoderm and Ectoderm
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29,

A classical and alternate pathway meet
at which component of complement
pathway ?

(L) G (2) C,

(3) C,6 (4) Factor-D

Most of the volume of normal human

blood is composed of

(1) Red blood cells
(2) Haemoglobin

(3) Plasma

(4)  White blood cells

Branches of lymph capillaries inside
villt of intestine are called

(1) Lymph node

(2) Thoracic lymph duct

{3) Lacteals

(4) Cisterna chyli

What prevents clotting of blood in
blood vessels ?
(1) Serotonin

(2) Fibrinogen
(3) Heparin (4)

Fibrin

In McArdl’s syndrome muscle cramps
and musefe fatigue  increased with
Incredse in glycogen. This occurs due
to deficiency of

(1) Hepatic hexokinase

(2) Muscle phosphorylase

(3) Muscle hexokinase

(4) Muscle ATPase

Which  of the following  hormone

produced by pituitary in both male and

female but hormone is active only in

female ?

(1) Relaxin (2) Prolactin

(3) Somatotropin  (4) Vasopressin
oc
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During activation of renin-angiotensin
aldosterone  system.  which
release aldosterone hormone

gland

([} Hypothalamus (2) Pituitary

(3) Adrenal (4) Parathyroid

Amount  of which of these will
increase in blood when liver become
inactive ?

(1) Ammonia (2)

(3) Uric acid

Urea
t4) Creatine
Albiism is  due to  defect mn
metabolism of which Amino acid ?
Serine

(4) Tyrosine

(1) Tryptophan (2)

(3) Methionine

Increased accumulation of
sphingomyelin in phagocytic cells is a
feature seen in

(1) Gaucher discase

(2) Niemen picks disease

(3) Down syndrome

(4) Tay sachs disease

The two main patterns of liver mjury
are

(1) Hepatocellular and cholestatic

(2) Cholestatic and obstructive

(3) Necrotic and Hepatocelluar

(4) Neoplastic and Cholestatic

Which of these is not a symptom of
Thalassemia ?

(1) Slow growth and weakness

(2)  Abdominal cramps

(3) Dark urine

(4) Facial bone deformities
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The widal test is a type of

(1) Precipitation reaction

(2) Agglutination reaction

(3) Complement fixation test

(4) Anti-globulin test

FISH (Fluoro

scene Insitu

Hybridization) is used in

(1) Detect and localise presence or

absence of special DNA

(2) Detect and localize cDNA

(3) Gene amplification

(4) Detect reciprocal translation

What is the major advantage of ELISA

I comparison to

other biological

quantification techniques ?
(1) Detection of an antigen at a low

concentration
(2) Low specificity
(3) Easily available
(4) Inexpensive

Electrophoresis was
(1) Tswett
(3) Tiselius

developed by
(2) Svedberg
(4) Sanger

Which of the following radioactive

isotope is generally used in RIA 9

(1) Tritium
(3) 1-125

(2) C-14
(4) S-35

44.

45.

46.

47,
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Measures of central tendencies are
(1) Mean (2) Median
(3) Mode (4) All of these

When  two  coins  are  tossed
simultancously, what will be the

probability of getting tail atleast once ?

(1 (2)

[0 [ SO S [V
j— wa|—

(3) (4)

Chi-square test is used for what

purpose ?

(I) To test for dependent samples.

(2) To test for independent samples.

(3) To test the difference in two
variance.

(4) To test for equality of
proportions.

Analysis of variance is a statistical
method for comparing ~ of
several populations.

(1) Proportions

(2) Variance

(3) Standard Deviation

(4) Means

What is the alternative name of
repeated measure t-test ?

(1) F-test

(2) Duncan’s test

(3) Paired-Sample t-test

(4) t-test for equality of mean
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Water is a

(1) Polar solvent

(2) Non-polar solvent

(3) An amphipathic solvent

(4) Non-polar uncharged solvent

Lactose consists of

(1) Glucose + Fructose
(2) Glucose + Sucrose
(3) Glucose + Galactose
(4) Glucose + Ribose

Enzymes of hexose monophosphate
shunt are present in
(1) Mitochondria (2) Cytosol

(3) Microsomes (4) Lysosomes

Which of the following fats are also
called neutral fats ?

(1) Triacyl glycerol

(2) Steroid

(3) Phospholipid

(4) Wax

Useful
cholesterol, except .

(1) Vitamin-D (2) Bile salt
(3) Bile pigments (4) Cortisol

substances produced  from

When pH falls by 1 unit, the hydrogen
jon concentration

(1) decreases 10 times
(2) increases 2 fold
(3) changes by 7 times

(4) increases 10 times

oc
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Which of these is not a classitied form
of conjugated protein ?
(I) Lipoprotein  (2) Glycoprotein

(3) Metalloprotein (4) Metaprotein

A short length of DNA molecule has
80 Thyamine (T) and 80 Guanine (G)
bases in each strand then the total
number of nucleotide in that DNA
fragment will be
(1) 640

(3) 160

(2) 320
(4) 80

Who proposes double Helix model of
DNA ?

(1) Thomas Morgan

(2) Watson-Crick

(3) Erwin Chargaff

(4) Oswald Avery

Which of these is not a coenzyme ?

(1) NAD (2) Fet™

(3) TPP 4) FAD

In  Lineweaver-Burk  plot,  the
y-intercept represents

[ I } Vnmx (2) Kll'l

3) 1V 4) /K

X m

Which one of these statements is true

with reference to enzymes ?

(1) Apoenzyme | = Holoenzyme
Coenzyme

+

(2) Holoenzyme = Apoenzyme -+
Coenzyme

(3) Coenzyme = Apoenzyme +
Holoenzyme

(4) Holoenzyme = Coenzyme +
[soenzyme

Which among these is a non-essential
amino acid ?

(1) Serine (2) Threonine
(3) Lysine (4) Histidine
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Which of the following is correct about

UV-Vis spectroscopy technique ?

(i) Quantitative analysis

(i) Wavelength between 180 nm to
1100 nm

(i) Qualitative analysis

Select the correct answer using the

codes given below :

Codes :

(1) (i) and (ii)

(2) (i) and (i)

(3) (i), (ii) and (i1)

(4) (ii) only

Which among the following helps us

in getting a three-dimensional picture
of the specimen ?

(1) Transmission Electron
Microscope
(2) Scanning Electron Microscope

(3)
(4)

Which one of the following statement

Compound Microscope
Simple Microscope

is correct ?

(1) Chain of custody means custody
of evidence from scene of crime
to Forensic lab.

(2) Chain of custody means custody
of evidence from scene of crime
to Police station.

(3) Chain of custody means custody
of evidence from scene of crime

to court room.

(4) Chain of custody means custody
of the ecvidence from Police
station to Forensic lab.
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Freifertaa & & 1 ar o w21 2 7
(1) wr Feghliel s & forg 73
aﬂﬁwerwmam% oW
SAEHT BT § FHA h1 7ef) 2 |
(2) mﬂﬁﬁaﬂa?ﬁ‘—ﬁmﬁﬁaﬂ?{

(3) ma@ﬁagrrﬁaawﬁa;ﬁ,ﬁ-m?qa }
1 fovedwor e s 2, sm o
Sl H T ) e 2 | E{"f:’

(4) W e T fom gy |
1 fovemu fray s 2 ECAL I
AL ¥ FHar B et

|

Fesfefen & 4 @ w -t fadr | 6.

aTeh § g2 2 |

i

(i) mgﬁﬁﬁmaﬁgm |

(i) T % TeTeRes o7 f

(iii) ToFet 1 |

R BT e 3 i vt e |
(1) (i), (i) 3T (i) 1

(2) (i) 3R (i) ;
(3) wha (ijj) ‘
(4) (i) 3R (i) i
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Which one of the following statement

is correct ?

(1) In mass Spectrometer, the sample
that has 0 be analysed s

bombarded with alpha particles.

In mass Spectrometer, the sample

that has (0 be analysed s

bombarded with the protons.

In mass Spectrometer, the sample

that has to be

analysed s
bombarded with the clectrons.

In mass spectrometer, the sample
has to pe

that analysed s

bombarded with the neutrons.

Which one of the following is

associated  with X-ray diffraction
technique ?

(i) Composition of metal
(if)  Composition of element
(111) Structure of crystal
Sclect the correct answer using  the
codes given below

Codes :

(1) (1), (i1) and (iii)

(2) (ii) and (iii)

(3) (iii) only

(4) (i) and (11)



66.

67.

68.

frfefaa & %9 @ wa afa 6 3= §
fafdim LU it (pyridine

ferroprotoporphyrin) T T Cil ﬂ_ﬁ'r %
T ra T ST B 2

(1) 2™ (Takayama) T
(2) R (Teichman) Ti1&701
(3) STEEE (Barberios) Taqor
(4) A (Florence) Tiam

fafafaa § 2 fea wlife @@ gerd
1 71 M % fere ufirg wiER (Acid
phosphatase) T2 &1 IR o= o
ERIL R
(n =
(3) 9@

(2) THA
(4) @n

freferfaa d s a saa ad 2 7

(1) M TEEE T % J1Y WeEe
%1 ufeafa § maafe fr gm
YHT h  IeASd B ufadi
{Fluorcsccnce)%@ﬁmﬁlm% |

(2) A I 1o % H1Y WeETEe
f1 ufeufs d gamfe G gm
YIS b IeEed Bl HHGHE
(Chemilumniscence) & &9 § 1
SR |

(3) HATA WA T & T WSS
%1 ufeafa # wamt fFa gm
TR % IEA H I
(Illumination]%Wﬁﬁﬂ?{m% |

(4) AT WA T % WY UEETEe
@1 3ufefa 4 mamfas fEa g
UFE %k 3eHSA bl TR
(Phospho-rescence) & &9 H T
SR |

%
1
i
i

b=

66.

67.
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08.

o

The presence of pink needle shaped
crystals of pyridine ferroprotoporphyrin
are observed in

(1) Takayama test

(2) Teichman test

(3) Barberios test

(4) Florence test

The acid phosphatasc screening test is
used to detect physiological fluid

(1) Urine

(2) Sweat

(3) Semen

(4) Saliva

Which one of the following statement

is correct ?

(1) Luminol reagent reacts with blood
in the presence of peroxide to
emit light by a chemical process
known as florescence.

(2) Luminol reagent reacts with blood
in the presence of peroxide to
emit light by a chemical process
known as chemiluminescence.

(3) Luminol reagent reacts with blood
in the presence of peroxide to
emit light by a chemical process
known as illumination.

(4) Luminol reagent reacts with blood
in the presence of peroxide to
emit light by a chemical process

known as phosphorescence.
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Jfe Tl 1 T 1 B B 3 foar =1 & o

B & 1 &1 o1 1o a1l frAferfiad 2pm - r

(1) ed B ‘
(2) B3O ;
(3) A.B.OTAB oz
(4) *ad AB B4
l

Frfefan d 4w a Fomedia 7
(i) FFlloo aner dedls d, fider |
T-HARA F I GH F forw |
fopern ST 2 @ wedt srsemifg |
TS 91T S 5 |
(ii) 3TN Ao qaH H, Ifide |
a1 sman & @fs wdt st
TATENS 410 31 7 |
(iii) I AT dHAIE H, e
UA-HAEA 1 94 91 & fern :
for @ 2 arfe @t srasifeE ‘
et a1 fied | |
(iv) SN0 &Ted el §, Iiae |
UA-HA1E %1 37Am 94 & fog |
fF s 2 wifes st osm- |
a3
M 3G @ Gy
G) Ry @) @Ry
Fefafea & & st % 7o (Body |
ﬂuids)ﬁ‘?ﬂ'ﬁ"fﬁﬁﬁﬁ?ﬂ%ﬁﬁﬂ?
TleT fopan smar 2 o ’
(1) ©fe® T (Elisa) i
(2) T;TFW'HTI(GCI Ditfusion) ,
(3) THIEAH (Amylase) T '
(4) FRA-IR e 1
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The blood group of mother is B and
father is B, the blood group of children
could be

(1) Bonly

(2) Band O

(3) A,B,Oand AB

(4) ABonly

Which of the following statement is

correct ?

(1) In absorption elution technique,
chilled n-saline is wused for
washing so that all unabsorbed
antibodies are washed.

(if) In absorption elution technique,
chilled n-saline is wused for
washing so that all absorbed
antibodies are washed.

(iii) In absorption elution technique,
chilled n-saline is used for
washing so that all absorbed
antibodies are not washed.

(1v) In absorption eclution technique,
chilled n-saline is used for
washing so that all unabsorbed
antibodies are not washed.

Select the correct answer :

(1) (i)yand (i1)

(2) (i) and (iv)

(3) (1) and (iii)

(4) (1) and (iv)

Species identification of body fluid
stains is generally done by

(1) ELISA

(2) Gel diffusion

(3) Amylase test

(4) Kestle-Meyer test
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fafafead g s @ s @t 2 7

(1) SwEd i yonfa 6 9= % fou
FEANTT dgaFIEEed §, FU7E
=1 T T T S |

(2) st H yefa f wiw F faw
FESTR SgdhuETed 3 THre i
T Ut @ A |

(3) FHAat i ywifa i 9= % foro
ST JEARIHTAH H, UAHm
1 $AE 3R e M T W@
ST R |

(4) FFEl # yefa B A= F o
FEFNT aHTETAA o, U
FYrz 3N TIE SH 98 W T8 @l
AT R |

W -gras a7 safed 2 A GeE (ABH)
TeT w1 IR a9 | wfed 7 g
(i) @m

(i) g

(iii) <

2 feu U iz %1 ITF FH FE I
FIS :

(1) (i) 3 i)

(2) (i) 3 (iii)

(3) (i). (ii) 377 (iii)

(4) (i) 3 (iii)
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73.

Which one of the following statement

is correct ?

(1) In crossover eclectrophoresis for
species of origin test, antiserum is
loaded on cathode side.

(2) In crossover electrophoresis for
species of origin test, antiserum is
loaded on anode side.

(3) In crossover clectrophoresis for
species of origin test, antiserum is
loaded on both cathode and anode
side.

(4) In crossover clectrophoresis for
species of origin test, antiserum is
not loaded on both cathode and

anode side.

Non-sceretor is a person who does not

secretes ABH substances in the
following body fluids :
(1) Saliva
(11) Sweat
(111) Semen
Select the correct answer using the
codes given below :
Codes :
(1) (1) and (it)
(2) (1) and (ii1)
(3) (i), (i1) and (iii)
(4) (i) and (iii)
(o]
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frafafead s s gd 2 ¢

(1) wstsn woreft #, wa @i
Wed U 3 udeEid
Iafexfa &t 2 |

(2) uEisd womelt §, WA i w
i S M O i -
Iufexfq 2l 2 |

(3) wHlisil wonefi d, @@ @t w
TS U SR udErdl v gE
Jufeafd 2 2 |

(4) UEizn gomeft §, @A @M w

.
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e
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.
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ff

W o GEid f sty

B2 |

2. TeAsh St forg gorreft & gafua 2 7

(1) ufemr (ELISA)

(2) S femrhifen (DNA  Finger-

printing)
(3) 9rH faafag
(4) THTAY (SNP)

frfafae 4 @ == o1 3199 § 98 7w

TR @ g 7

(1) gersiferh
(2) wHa fawm=
(3) Hiw fasH

~ YEASTET &1 1T
~ TR AR |
- o s e |

gfafsen &1 srerm

(4) f-faurs — =fedi %1 s1emm
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76.

Which one of the following is correct ?

(h

(2)

(4)

In the ABO system, blood group
A 1s characterised by the presence
ofantigen A and antibody B.

In the ABO system, blood group
A is characterised by the presence
of antigen B and antibody A.

In the ABO system, blood group
A is characterised by the presence
of both antigen A and antibody A.
In the ABO system, blood group
A is characterised by the absence

of antigens and antibodies.

Dr. Alec Jetfery is known for

(1)
(2)
(3)

(4)

ELISA
DNA fingerprinting
Protein synthesis

SNP

Which of the following is not correctly

matched ?

(1)

(4)

Microbiology - Study  of
microorganisms

Anthropology — Study of anthers
Serology — Study of antigen and
antibody reaction

Osteology — Study of bones
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() T A F R d s d |
(i) wfafsran g & foqu v A sifos ,
(i) S 3 2 sifirss At o g |
(1) (). i) 3 iy @) () s iy |
(3) (i) 3G (@) Fae i) o

=
17

e

%

i

frafafes 4 9 faies frssdu g |
Hafgd 8 7 |
(i) AR €L.UA.T (Plant DNA) '
(ii) THEI 2T (mt DNA)
I

(iii) 759 3R wfgen giuau 3wl Hi arem
A & fag :
H= feu o Fre w1 IyET B WA I |
t

3 |
(D) (). (i) 3 Giii) ) () iy |
(3) (i) 3T (i) (4) Fad (iii) i
Frfas @ua fH3m (Real time PCR)
i

farfey feret feru srem fopom s 2 2 ;
(1) EuAu i a7 udr - & for a
!

(2) B farerfm & oo |
(3) AT UFeHH (Extraction) & feTg :
|

(4) <Ay fagpuafin & forg
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78.

79.

The term Multiplex PCR refers to

(1) More than one region to be copied.

(11) Addition of morc than onc primer
set to the reaction mixture.

(it1) Amplification of two or more
regions of DNA.

Select the correct answer using the

codes given below :

Codes :

(1) (i), (i) and (iii) (2)

(3) (1) and (i) (4)

(1) and (i1)

(iil) only

Differential extraction is associated

with

(1) Plant DNA

(i) mt DNA

(111) Separate male and female DNA
fractions

Select the correct answer using the

codes given below :

Codes :

(1) (1), (i1) and (iit) (2) (i) and (ii)

(3) (i) and (iii)  (4) (iii)only‘

Real-time PCR technique is used for
(1) Quantitation of DNA

(2) Genotyping of DNA

(3) Extraction of DNA

(4) Sequencing of DNA
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frafafEad e s AT FaT A 2 7
(1) mtDNA i 5= 3R | g 2 |

e

mtDNA &1 GEAT 3R o
TMATHR 2 |

mtDNA &1 GEAT H{HE 3§
HTAATHR 2 |

frafafaa 4 @ =9 @1 & biallelic
L 2 7

(i) STRs

(ii) RFLPs

(iii) SNPs

e feu T @re w1 3uEm W E 3w
T

Hie

(1) (i), (i) 3 Giii)

(2) (i) 3R (i)

(3) (i) 3R (iii)

(4) a (iii)

(4)

faﬂi‘ﬂl‘lﬁ (Chimerism) 9reg =1 31f37yT9 2

(1) @ & 97a § g srem 7aRes
Y HIVH13T] T 3ufeefy

(2) VA T YA 3 qiem § e

(3) & JHTYH F g1y § yry

(4) TATSHT S F "oy § yr

W] hgsh 1 e g forger famy
;ﬁq¥hﬁ7ﬁﬁ%,ﬁﬁﬁﬁ$ﬁﬁ$¢ﬂ§ﬁmﬂ
?

(1) vgdiug
(3) SAHA.

(2) IS %
(4) I aft

mtDNA 3l T 36N 3EHR 2 |

82.

83.

o

Which one of the following statement

s correct ?

(I) The structure of mtDNA is lincar
in shape

(2) The structure of mtDNA is oval in
shape

(3) The structure of mtDNA s
circular in shape

(4) The structure of mtDNA s

rectangular in shape
Which one of the following is a
biallelic marker ?
(1) STRs
(i) RFLPs
(1ii) SNPs
Select the correct answer using the
codes given below :
Codes :
(1) (1), (i) and (iii)
(2) (1) and (ii)
(3) (i) and (iii)
(4) (iii) only

The term ‘Chimerism® s described

when

(1) The presence of two genetically
distinct cell lines. _

(2) Acquired through stem cell’
transplantations

(3) Acquired through blood
transfusion

(4) Acquired through plasma
transfusion

Sperm  nuclei are  impervious (o

digestion without

~in the
process of differential extraction

(1) SDS
(3) DTT

(2) Proteinase K
(4) All of these
O



84. ffafEadasmmadi a2 7

(1) & T Ha8 Ugat qfF@al wgedi 2 |

(2) ¥E 9 HeEH YES YT UEFAT B |
(3) v YL HaH YEc W01 TEEdT 2 |
(4) @ T Y TES HIgT UgT R |

85. ffdfea & witfas demerst =

3 fores R e 2 2
(i) Tr=eHred Fauea

(i) ITATEE =

(iii) TI-HTeR =e

Hi= feu v wrE %1 I e gE I

- .
HIE :

(1) (i) 3 (i)
(3) FHI (i)

86. &l WS (blow fly) % Sfaq =% o

fafdfEa s o ad w2 2

(1) 3TE-Tga, A& -gad, Ha-dan

S TR -

(2) 37El, S, TEAI, gEA, dE0 -

e, T

=
T

(2) (i), (i) 3 (iii)
(4) (i) 3% (iii)

A

[y

85.

86.

Which onc of the following is a correct

statement ?

(1) The first organism to arrive on the
corpse is blow flies.

(2) The first organism to arrive on the
corpse is beetles.

(3) The first organism to arrive on the
corpse is pupa.

(4) The first organism to arrive on the
corpse is maggots.

Forensic entomology is helpful in

estimation of

(1) Postmortem interval

(11) Postmortem injury

(1i1) Anti-mortem injury

Select the correct answer using the

codes given below :

Codes :

(1) (i) and (i1) (2) (1), (i1) and (i11)

(3) (i) only (4) (ii) and (iii)

Which of the following is the correct

order of life cycle of a blow fly ?

(1) 1% egg, 2" larva. 3" pupa and
4™ adult

(2) Egg.pupa, 1¥,2™ 3" Jarva, adult

(3) Larva, egg, pupa, adult

(4) Adult, 1%, 2", 39 Jarva, egg
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afg wrd § ST A gfeor fen 1 3R
ST, 9 f 1 3 sE | U sme
(I H e a) FTHE FHE 7

(1) efE et wih, Afwn agm
s A |

IS T |

fad |

YA T |
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oot At 1 31 o AT G ST
87

(i) &0 s

(i) ieft s

(i) wiewgat

et fow o Bre w1 v W g I
S
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(1) (), (i) 3R (iii) (2) (i) 3 (i)

(3) (i) 3R (i) (4) Fad (iii)
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If one traverses from North to South in
India, which one of the following is
the correct sequence of National Parks
(from North to South) does he observe ?
Park, Sariska

(1) Hemis National

Tiger  Reserve, Bannerghatta
National Park, Mukurthi National
Park

Hemis Park,
Park,
Sariska Tiger Reserve, Mukurthi

National Park

(2) National

Bannerghatta  National

(3) Hemis National Park, Mukurthi
National ~ Park,  Bannerghatta
National =~ Park, Sariska Tiger
Reserve

(4) Sariska Tiger Reserve, Hemis
National ~ Park,  Bannerghatta

National Park, Mukurthi National
Park

Blow tlies are also known as
(1)  Green bottles

(i1) Blue bottles

(111) House flies

Select the correct answer using the
codes given below :

Codes :

(1) (1), (1) and (iii) (2) (i) and (ii)

(3) (i) and (i)  (4) (i) only
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90.

9T

A TS’ (Pod) FA & e N A g2 |
a7 :
(1) I i
(2) dag :
(3) IFEm i
‘ i

(4) wim Eﬁ%?
fr=fafaa & 3 =5 =1 98 &0 8 o 18 E
(1) HAEad - zef E
(2) " - udn 1
(3) &G - 9y f
(4) HEH - el ‘
freeifaferss 1o (Cystolithic hair) 9 & E
T 1 e # s E 2
|

(1) W 7 drey
I

(2) 36 =1 e ‘
i

(3) T ,
i

(4) Il &I D .
36

89.

90.

91.

The fruit ‘Pod’ is associated with the 93,
narcotic plant

(1) Coca

(2) Tobacco

(3) Opium

(4) Bhang

Which one of the following is not 93,
correctly matched ?

(1) Ivory— Elephant

(2) Horn - Rhino

(3) Skin— Tiger

(4) Musk — Bear

Cystolithic hair are present in the
leaves of which plant ?

(1) Bhang plant

(2) Opium plant 94.

(3) Tobacco plant

(4) Coca plant

oc
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frfafaa 0 9 w1 o1 981 &1 3 8 T8l

@rdi e 7

(1) e 3ifeeanfes aiE — iz @

AT |
(2) e — gfeas T 1 A |
(3) HfegArIR — F921 H1 119 |
(4) Hiferga wfEE - @udt 4 ofd
3918 1A |

feafafead g s argdi 2 ¢

(i) 3nfecamars — afedi & srema
(ii) sTifeeast — afgal = smadda
(iii) AT — el 2fgai & nm
H feu U Fie @1 3w w T I
o

HlS -

(1) (i) 31 (iii)

(2) (i) 3 (ii)

(3) (ii) 31 (iii)

(4) (i), (i) 3T (iii)

Frafafaa & @ o1 s % aef
(Axial) SehTet =1 IeTaro 98 2 7
() fehzd () @
@) e (4) wfemi

{
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94.

Which one of the following is not
correctly matched ?
(1) Reid’s

Measurement of femur bone

ostcometric  board -

(2) Goniometer — Measurement of
pelvic girdle

(3) Mandibulometer — Measurement
on mandible

(4) Mollison’s craniophore =

Measurement of vertex height in

skull

Which one of following is correct ?

(1) Osteology — Study of bones

(i) Ostcogeneis —  Ossification  of
bones
(i) Osteometry — Measurement of

long bones
Select the correct answer using the
codes given below :
Codes :
(1) (i) and (ii1)
(2) (1) and (i)
(3) (i1) and (111)
(4) (i), (11) and (iii)

Which one is not an example of axial
skeleton of man ?

(1) Vertebral column
(2) Skull

(3) Radius

(4) Ribs
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i 1 & R T EE A W T
2 ?
(1) i1 1 7E — g BIEl
(2) S 1 7l — BIUATEE T
) Wﬁgﬁr—aﬁr«mﬂa

(4) IR — X 7

faefetfiga | ®H H 37 (app;mlmﬂm}
HepTe ol JETE T 8 7

(1) HITA
(2) =i AT
(3) 2rEH

(4) g i T

Tl - 1l % = gHl- [ =1 fige & 3
qfam%qmﬁ‘ﬂmwaﬂ"mﬂm
oEl 3 A -

gal-1
B, faefea

-1
uECECL
Tz & &2l

(1)
(ii)
C.  7Edl (iih)

(1v)

A B & D

(1) (i) (i) (1)  (v)

(iv) (1) (111)
(11)
(1)

(2) (1)
(3) ()
(4) (1)

(i) (v)

(v) (1)

97,

i

38

=]
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Which onc of the following 1s not
correctly matched ?

(1) Scapula - Glenoid Fossa

(2) Femur— Coronoid Fossa

(3) Ulna— Trochlear notch

(4) Sternum — Jugular notch

Which one is not an example of

appendicular skeleton ?

(1) Cranium

(2) Pelvic girdle

(3) Tarsus

(4) Patella

Match List — T with List - [T and select

the correct answer by using the codes

given below
List — 1 List — 11

A. Greater (i) Trapezoid line

trochanter '

I“

B. Sacrum (1) Femur

C. Clavicle (ii1) Acctabulum
D. Pelvis (iv) Vertebral column
Codes :

A B & D

(y (i) iy @ aGv)
2y (i) Gv) (@ G
(3) () () (i) (V)
(4) (i) (i) (V) (1)

ocC
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(3) (ii) 3T (iii)
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99. F-11 % my -1 F1 e i IR
qﬁﬁ%ﬂaﬁummmmm
TE I A -
-1

g=-1
A, ara 45, [EA () fasmsi &1 i 4
qrf-ad 424
B. gmr46, IEA (i) fesmasi < w
C. w47, IEA (i) T3 % 3TEH 6
qETd B
D. &5l IEA (iv) foramee & af

S -

A B G
(1) Gvy (iy (i) (iit)
(2) (i) iy () (iv)
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98.

100.

At crime scenes, evidence of high-
velocity blood spatter is frequently
associated with :

(i) Gunshot injury

(ii) Power tool and machinery injurics
(iii) High speed automobile accidents
Select the correct answer using the
codes given below :

Codes :

(1) (i) and (ii1)

(2) (i), (i1) and (ii1)

(3) (ii) and (1i1)

(4) (i) and (i1)

Match List — I with List — [T and select

the correct answer by using the codes
given below :

List—1 List — 11
A. Section 45, (1) Facts bearing
IEA upon opinion of
experts
B. Section 46, (ii) Opinion ol
IEA experts
C. Section 47, (iii) Grounds of
[EA opinion when
relevant

D. Section 51, (iv)Opinions as 10

IEA handwriting when
relevant
Codes :
A B C D
(1) ( (i) (i) (i)
(2) (i) (1) (V)
(3) (u) (i) (iv) (i)
(4) (i) (i) (v) (1)

Which one is only associated with

secondary crime scenc ?

(1) Where body is found after the
incident.

(2) Where victim’s clothes are found
after the incident,

(3) Where body is transported after
occurrence.

(4) Where crime weapon is found by
the initial witness.
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